05.20 TRUBOPROVOD NAPORNOGO VOZDUKHA (DETALI)




Ne B Ne o
HanmenoBanue [Ipumeuanue

PUCYHKE| Karajory

001 | 4429001710 |Bo3xyxocOOpHUK 35 L P-0041/80

002 | 3119013240 |Kosblio YIIIOTHUTEIHHOE 22 x 27 CSN 02 9310.2

003 | 2053621014 |[IITynep nmepexoaHbIi

004 | 2052520124 |T"aiika

005 |4436111200 |[KomeHo Z 691 16 831

006 | 4436120860 |Knanan apeHa)xHbII

007 | 2075410254 |[Iep>xaTenb BO31yXOCOOPHHUKA

008 | 2075410174 |]/lep>xatenb OauioHa BO3TyXa

009 | 3091113590 |bont M12 x 20 1SO 4017 - 5.8 MKS 720

010 | 3111108860 [[llaiiba npy>kuHHAs 12 CSN 02 1741.05 MKS 720

011 | 3091102200 |bont M10 x 40 1SO 4014 - 5.6 MKS 720

012 | 3111108850 |(Il1aiiba npykuHHAsI 10 CSN 02 1741.0 MKS 720

013 | 3111100640 ["aiika M10 ISO 4032 - 5 MKS 720

014 | 4438520250 |[THeBMOBKIIOYATEITH

015 | 3119013060 |KoipI10 YyIUIOTHUTEIBEHOE 12 x 16 CSN 02 9310.2

016 | 3194110340 [I'opioBuHa Js 5 CSN 13 7850

017 | 3091113150 |bont M6 x 16 ISO 4017 - 5.8 MKS 720

018 | 3111108830 [[IIaiiba npy>kuHHAs 6 CSN 02 1741.05 MKS 720

019 | 3111100590 [I"aiika M6 - 5 MKS 720 I1SO 4032

020 | 4429001740 |Bo3xyxocOOpHUK 40 L P-0034/80

021 | 2053740574 |Tpoiinuk

022 | 2053740044 |T-TponHHK

023 | 2053760014 [KoseHo

024 | 2052520124 |T"aiika

025 | 4436120950 [Kpan 3amopHBbIi 443 612 370 803

027 | 4436120810 |Kiaman oOpaTHBII 443 612 081 001

028 | 3119013240 |KoipI10 YIUIOTHUTEIHEHOE 22 x 27 CSN 02 9310.2

029 | 4436121610 |[Knaman apeHaXHBIN

030 |4436111120 [ITynep aBoiHOU CM 4026.05

031 | 4429001740 (Bo3ayxocOOpHUK 40 L P-0034/80

032 | 3119013240 |Kosblio YIIIOTHUTEIHHOE 22 x 27 CSN 02 9310.2

033 | 4436111120 [ITynep aBoiHOU CM 4026.05

034 | 2053621014 |IlITynep nepexoaHbli

035 | 4436120860 |Knanan apeHa)kHbII

036 | 2076560664 |JIenTa BO31yXx0COOpHUKA

037 | 3111108850 |[lIaiiba npy>kuHHAs 10 CSN 02 1741.0 MKS 720

038 | 3111100640 [I"aiika M10 ISO 4032 - 5 MKS 720

039 | 4439990380 |depsxatensb TpyOOK 22 089 00291

039a | 4439990380 |[epxarens TpyOOK 22 089 00291

039b | 4439990380 |[lepxarenb TpyOOK 22 089 00291

040 | 3111108840 |[l1aiiba npy>kuHHAs 8 CSN 02 1741.05 MKS 720

041 | 3091113310 |boat M8 x 25 ISO 4017 - 5.8 MKS 720

042 | 2028090804 |/lep>xatenb TpyOKH

043 | 3091113590 |bont M12 x 20 1SO 4017 - 5.8 MKS 720

044 | 3111108860 |(I11aii0a npy>kuHHAsI 12 CSN 02 1741.05 MKS 720

045 | 2054471674 |Ckoba TpyOKH

046 | 3091109790 |bont M8 x 16 ISO 4017 - 5.6 MKS 720

047 | 3111100610 ["aiika M8 ISO 4032 - 5 MKS 720




Ne B Ne o
HanmenoBanue [Ipumeuanue

pPUCYHKE| KaraJory

048 | 2028090884 |Kpemuienne TpyOoOK

049 | 3091105710 |bonT M8 x 35 ISO 4014 - 5.8 MKS 720

050 | 4439990390 |depxarens 22 088 00291

050a | 4439990390 |dep-xarenb 22 088 00291

051 | 4436121830 |Topmo3HOI1 KpaH mpHUIleTIa

052 | 3119013240 |KoipI10 YIUIOTHUTEIHEHOE 22 x 27 CSN 02 9310.2

053 | 4436111120 |ITyuep nBoiHOIMA CM 4026.05

054 | 2053621004 |IIITyep nmepexoaHbIi

055 | 2053621014 |IITynep nepexoaHbli

056 | 2075063734 |Tsra

057 | 1054410014 [IToxymika cTabuan3aTopa

058 | 1050990714 Yamka

059 | 3111100640 |T"aiika M10 ISO 4032 - 5 MKS 720

060 | 4436121820 |Tsra 8601.010.0

061 | 3111102050 |T"aiika M8 1SO 4035 - 04 MKS 720

062 | 2028500054 |Tsra coequHUTENBHAS

063 | 2075063744 |Tsara coeqruHUTENLHAS

064 | 3111108860 |l1laitba nmpyxuHHas 12 CSN 02 1741.05 MKS 720

065 | 3091113610 |bont M12 x 30 I1ISO 4017 - 5.8 MKS 720




	05.20 TRUBOPROVOD NAPORNOGO VOZDUKHA (DETALI)

